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Demo 1: _____________________Demo 2: ______________________Demo 3: _____________________

Step 1: Determine Total Market Size
Largest Number: _______________________  Data Source: ___________________________

Step 2: Reduce based on Key Demographics

Data Source: ________________ Data Source: ________________Data Source 3: _________________

Step 3: Factor in Assumptions
Number of Competitors: __________________% of Market You Can Access: ___________

Step 4: Calculate Addressable Market
[Largest Number] x [Demo1] x [Demo2] x [Demo3] x [% of Market] = Addressable Market
__________________ x ___________ x ___________ x ___________ x ___________  = __________________

Step 3: Calculate Addressable Market

Segment 1 Description: ___________________________________________
Segment 2 Description: ___________________________________________
Segment 3 Description: ___________________________________________

Data Source: ________________    Data Source: ________________          Data Source 3: ________________

Step 2: Factor in Size of Market Segments

Step 1: List Key Market Segments

[Segment Data 1] + [Segment Data 2] + [Segment Data 3] = Addressable Market
___________ + ___________ + ___________ + ___________  = __________________

Segment 1 Data: ________________ Segment 2 Data: ________________ Segment 3 Data: _________________


